N

w

MONHO MVI-€ 404 31V1d H31dvaV / S31V1d H31dvaV / SIOIAIA IDNYHO MOINO LNIOd Od3Z

Eomae=

Adapter Plate for 3-Jaw Chuck

3 Jaw Chuck Adapter Plate for M-52x52

FRONT BACK

M-52x52 (4") M-52x52 (5") M-52x52 (6")

Size 2112x30 mm Size 2132x30 mm Size 2167x30 mm

Pull Stud No. M-52x52PS Pull Stud No. M-52x52PS Pull Stud No. M-52x52PS

Mounting Holes M8 Mounting Holes M8 Mounting Holes M10

Weight (kg) 2 Weight (kg) 2.9 Weight (kg) 4.6

4-M8x1.25P
4-M8x1.25P
4-M8x1.25P

052

- 5
2112 =] 2167 3
330 & 530 Yo
‘ N . ~

| i 418] =3 J%‘

o o
T o ~©
54 0O :
N ts} <=
= - — X
°3 B % °2
[m) [apS
o= a? 85
[ > T
am 8«.) am



3 Jaw Chuck Adapter Plate for M-96x96

FRONT BACK

M-96x96 (6") M-96x96 (7") M-96x96 (8") M-96x96 (9")
Size 2167x30 mm Size 2193x30 mm Size 2203x30 mm Size 9233x30 mm
Pull Stud No. M-96x96PS Pull Stud No. M-96x96PS Pull Stud No. M-96x96PS Pull Stud No. M-96x96PS

N
m
X
O
o
e
=z
_|
Qo
j=
Q
~
o
I
>
P4
[}
m
=)
m
=
o
m
w
~
>
O
>
T
_|
m
By
T
>
—~
m
w
~
>
o
>
T
_|
m
By
T
>
—~
m
m
O
X
%
s
=
o
T
C
Q
~

Mounting Holes M10 Mounting Holes M10 Mounting Holes M10 Mounting Holes M12
Weight (kg) 4.6 Weight (kg) 6 Weight (kg) 6.7 Weight (kg) 8.9
096 196 196

10x1.5P

<

S -
2167 2 Q
250 B 2203 3
iz s = 1
M t
NNH NNV
0110
2160
o OO o
[Te) o
ix - / . :
3= N g
= X -
O B
Y SN
T ~~—"PCD 0172 PCD 0176
3-M10x1.5P 3-M10x1.5P

\
30°

PCD 2210

Pers
30 3-M12x1.75P

© 2024 COPYRIGHT. HOMGE MACHINERY IND. CO,, LTD. 35



